Vék |Lokalita T M ALP LDH Operace Nekréza (%) kRed. cht. [PFS (mésice) |EFS (mésice) FOS (mésice) Ip 53 (%) IPgp (%) HER/IHC HER/FISH
76 |tibie 1 §1(p) 10 {0 1 0 0 / / 28+ sd 0 0 0 0
28 |femur 2 §1(o) 1 1 1 75 0 9 / 18+ progrese]0 0 0 0
7 |26 |tivie 3 }o {0 { 1 30 0 / / 71+ CR 80 0 0 0
7 f29 lpetvis |2 fo {0 {0 1 0 0 / / 177+cR___ o 0 0 0
M 121 [femur 2 |0 IO IO 1 80 0 42 38 63+ CR 0 0 0 0
m_126 ltibie 2_to o o 1 100 0 / / 109+CR___|o 0 0 0
M }52 |talus 2 }0 IO IO 1 98 0 / / 18+ CR 0 0 0 0
M }24 |femur 2 }o IO IO 1 95 0 142+ CR 0 0 0 0
M }25 |humerus |3 }0O IO IO 1 80 0 108+ CR 0 0 0 0
M }63 |femur 2 }0 I0 IO 1 75 1 58 54 72 5 5 0 0
V4 52 |Th3 Zebro |2 }O 1 IO 1 50 1 57 53 93 0 0 0 0
M 149 lfemur 2_lo 0 0 1 60 1 11 6 18 0 0 0 0
M_J32 |femur 2 _}0 0 0 1 5 0 / / 58+ CR 0 0 0 0
28 |tibie 2 |0 1 0 1 96 1 27 22 47 0 0 0 0
25 |femur 2 |0 1 0 1 55 1 11 5 13 0 0 0 0
29 |scapula 2 }o 0 0 1 50 1 38 35 123+ CR >50 0 0 0
85 lhumerus 11 10 0 0 1 10 0 / / 32+ CR 80 0 0 0
38 Jcalcaneus |1 10 0 0 1 IO 1 47 46 72 30 0 0 0
19 |[femur 2 |0 1 0 1 60 0 12 8 64+ CR 0 0 0 0
71 |femur 2 |0 0 0 1 10 1 16 14 20+ CR 10 0 0 0
23 |tibie 3 |1 (p/o) 1 0 1 85 1 12 / 15 5 0 0
19 |clavicula 1 |0 0 0 1 75 1 / / 71+ CR 0 0 0
121 _|pelvis 2_lo 1 1 {0 ) 0 7 [ 10 60 0 0 0
56 |pelvis 2 |0 0 0 IO IO 1 24 / 31 60 0 0 0
61 |pelvis 2 |1(p) 1 0 o o 1 8 / 13 30 0 0 0
2 |0 0 0 IO IO 0 / / 2 (NUL) 0 5 0 0
2_11(p) 0 0 IO IO 1 7 / 12+ progrese]20 0 0 0
2 i) 0 1 1 |g9 0 19 14 19 10 10 0 0
M }20 jhumerus |3 |O 0 0 {0 65 0 3 / 14 0 5 0 0
Z 21 |femur 2 11 (p) 1 1 1 95 0 9 / 12 10 0 0 0
7 |42 |tibie 2 |0 1 1 1 65 0 8 4 11 0 0 0 0
A 22 |femur 2 |1 (p) 0 0 0 0 0 3 / 11 80 20 40% 0
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